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QUESTION 1

You have an average key-value pair size of 100 bytes. Your primary access is random needs on the table. Which of the
following actions will speed up random reading performance on your cluster?

A. Turn off WAL on puts

B. Increase the number of versions kept
C. Decrease the block size

D. Increase the block size

Correct Answer: D

QUESTION 2

You need to create a "WebLogs" table in HBase. The table will consist of a single Column Family called "Errors" and
two column qualifiers, "IP" and "URL". The shell command you should use to create the table is:

A. create\\'WebLogs\\',{NAME =>\\'Errors:IP\\', NAME =>\\'Errors:URL\\'}
B. create\\'WebLogs\\',\V'Errors\\'{NAME =>\\'IP\\', NAME =>\'URL\\'}

C. create\V'WebLogs\\',\VErrors:IP\\' \VErrors:URL\\

D. create\W'WebLogs\\',\\\'Errors\\'

Correct Answer: C

QUESTION 3

Your client application needs to scan s region for the row key value 104.
Given a store that contains the following list of Row Key values:

100, 101, 102, 103, 104, 105, 106, 107

A bloom filter would return which of the following?

A. Confirmation that 104 may becontained in theset

B. Confirmation that 104 is contained in the set

C. Thehash of column family

D. The file offset of the value 104

Correct Answer: B
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QUESTION 4

You have 40 Web servers producing timeseries data from Web traffic logs. You want to attain high write throughput for
storing this data in an HBase table. Which of these should you choose for a row key to maximize your write throughput?

A.
B.;
C.
D.

Correct Answer: C

QUESTION 5

Which of the following configuration values determines automated splitting?
A. hbase.hregion.majorcompaction

B. hbase.hregion.flush.size

C. hbase.balancer.period

D. hbase.hregion.max.filesize

Correct Answer: D

Reference:http://hbase.apache.org/book/important_configurations.html(2.8.2.6. Bigger regions, see the code in the last
sentence)
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